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10 (a) Write down the value of 100*

(b) Find the value of 125

(Total for Question 10 is 3 marks)
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12 (@ Find the value of

[ep—

(Total for Queston 12 s 4 marks)
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14 Dis directly proportional to the cube of n.
Mary says that whe n s doubled, the valu of D is mulilied by 6

Maryis wrong.
Eplain why.

)
(Total for Question 14 s 1 mark)
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16 @) Findthe value of 32x10"

(6 Findthe vale of 107
Giveyour amsver comect o 1 deciml place

(Totalfor Question 16 2 marks)
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11 Witedown the value of 1257

(Totalfor Queston 1115 1 mark)
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18, (8) Wit down the value of 20

(®) Wit down the value of .

(© Work outhevae o 97

(Tota) 4 marks)
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14, () White dovn the value of 5

©) Wik dova e vatue of 24

(Total 2 marks)
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1 (a) Workout.

167

(b) Simplify.
V63

(b) .





image15.png
16 (a) Write Y12+ V75 in the form kv/3.

(b) Work out.

16+

(b) ..
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@2x10%)+ (5x10%)
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(b)
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3
17 smmg

can be written as 3%

Bl
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2
7 Without using a calculator, show dlearly that 643 i equal t0 16.
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3

Which one of these is a square number and a cube number?
Circle your answer.

100 1000 10000

1000000

[1 mark]
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26 (a)  Showthat can be written in the form  a+b where a and b are integers.

14
N7

[2marks]
26 (B)  Workout 2410 x B0 x 8
Give your answer as an integer.
[3marks]

Answer
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22
Work out the value of (15)

Circle your answer.

wia

©ln

©l~

[1 mark]
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Showthat (543~ iZ)° simplifies to an integer.

3 marks)
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Simplify (5‘]2

Circle your answer.
[1 mark]

5° s 25° 25°
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16 Circle the number that is closest to the value of  29°
1 mark]

27000 % 2700 9000
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17

Work out the exact value of [E

o)

[2 marks]
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Workout /64 x 1000

Circle your answer.
[1 mark]

40 80 400 4000
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1 Workout  v2° +62

Circle your answer.
[1 mark]

10 14 50 100
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2
Circle the expression that is equivalent to (4,15)
[1 mark]

164" 16d" 84" 8’
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Show that 268 can be written as the sum of a power of 3 and a square number.
[2 marks]
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2

Which of these values of n makes 2.7 x 10" a cube number?

Circle your answer.

[1 mark]
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Simplify 3% x3*

Circle the answer.
[1 mark]

38 o 316 0’6
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Work out the square root of 100 million.

Circle your answer.
[1 mark]

1000 10 000 100 000 1000 000
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11 () Fiad he value of {81x10°

) Find e e of 64
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12 Patrick has o work out the exact value of 645
Parrick says.

L otosis 1650 64t = 167
3

Explain what is wrong with what Patrick says.

(Total for Question 12 i 1 mark)
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() Work ot the vlue of @+ 5

(Tota for Question 14 s 4 marks)
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(@) Write down the value of 36+

() Wite down the valu of 23

(©) Wk out the value o277

(Total for Question 9is 4 marks)
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13 VS8 + Vi) can b witen inthe form a0 where i a integer:
Find the valae of

(Tota for Question 13 s 3 marks)




